Assembly Code

The following code, registers, data section, etc., all apply to one scenario.


.data

head:
.asciiz "   "  # You figure out what was originally here…

number: .word
0


.text

main:

#



    




li 
$v0,4


la
$a0,head


syscall

#



    


li
$v0,5


syscall


sw
$v0,number

#







not
$a0,$v0


addi
$a0,$a0,1

#







li
$v0,1


syscall

#







li
$v0,10

# Have stepped to here


syscall

Pertinent Registers

R0  [r0] = 0
R1  [at] = 10010000
R2  [v0] = 1
R3  [v1] = 0
R4  [a0] = fffffffffffffff7
R5  [a1] = 7ffff630
R6  [a2] = 7ffff638
R7  [a3] = 0
R8  [t0] = 0
R9  [t1] = 0
R10 [t2] = 0
R11 [t3] = 0
R12 [t4] = 0

Data Section

[10000000]..[1000ffff]  00000000
[10010000]    65746e45  756e2072  7265626d  00000a3a  
[10010010]    00000009  00000000  00000000  00000000 
[10010020]..[1003ffff]  00000000

For many of the questions, you will need to look through the registers, data section, and text section.  Do not rely simply on the provided code.  You are being tested on your debugging abilities also.

1. What did the program print as a header?  What does ‘head’ in the data area contain? (3 points) 

2. What was entered as an integer? (2 points)

3. What did the program print as output? (2 points)

4. Provide pseudo-code comments for what is happening in the code.  Do not refer to registers!  (Hint:  For the syscall lines, look up on the reference sheet to determine what was performed.)  (2 points)

5. Briefly, what does this program do? (3 points)

